
TEST 1

I. Choose the word that has underlined part pronounced differently from the others.

1. 
A. pull
B. full
C. put
D. fun

2. 
A. drive
B. discover
C. display
D. divide

3. 
A. teacher
B. shirt
C. hurt
D. learn

4. 
A. cinema
B. camera 
C. come
D. camp

II. Choose the best answer.
5. This book is ____ into four chapters.


A). subtracted 
B). added 
C). multiplied 
D). divided 

6. She is trying her best to help the kids.


A). children 
B). students 
C). nephews 
D). child

7. Mr Nam, ___ son is my classmate, is a very kind neighbor . 


A). which 
B). whom 
C). who 
D). whose

8. Sunday is the day ___ we don’t go to school.



A). when 
B). whose 
C). which 
D). who 

9.  Thanks to the development of information____, we can communicate with each other quickly through the Internet. 


A). technical 
B). technique 
C). technology 
D). technician 

10. Last night, while I ___ a letter the phone rang.


A). wrote 
B). had written 
C). was written 
D). was writing

11. I  look forward ___ you again.


A). to meet
B). to meeting
C). for meeting 
D). meeting 

12). When we arrived, the children ___ “ Hide and Seek”. 


A). was playing
B). had played
C). played
D). were playing 

13). The baby ___ wonderfully up to now. 


A). behave
B). behaves
C). is behaving 
D). has behaved 

14). My brother is fond of  doing _____  research. 


A). scientific
B). science
C). scientist
D). scientifically

15). The building ___ we are working ____ in bad shape. 


A). where / is 
B). which / is
C). where / are
D). which / are

16). That’s the man ___ house was burned down. 


A). his 
B). that his 
C). whose 
D). which 

17). We stopped for a rest after we____  for 2 hours . 


A). walked 
B). had walked 
C).  would walk 
D). have walked 

18). The computer is capable ___ doing almost everything you want. 


A). of
B). on
C). to
D). with

19). You can get ___ by connecting the internet. 


A). time
B). digit
C). information 
D). community

20).  ___ young have future in their hands. 


A). The 
B). A
C). An
D). Some 

III. Choose the underlined part among A, B, C or D that needs correcting.

21. About one hundred buildings and houses have destroyed in the earthquake.

                  A                       B                                    C                             D

22. April 1st  is the day when is called April Fool’s Day in the West.

         A                              B                                               C         D

23. She taught  me  how use  the photocopier. 

               A        B        C                    D

24. Look ! That plane is flying  towards the airport. It’s landing. 
                      A                   B           C                                      D 

25. One of the effective  means  of  communication  are  language.

                            A             B                      C              D 

IV. Choose the sentence that has the same meaning as the original.

26. I started learning English five years ago .


A. It was five years since I learnt English.
B. I have been learning English for five years


C. I have learnt English since three months
D. I didn’t learn English for five years

27 The house needs painting.


A.  The house hasn’t been painted for a long time 
B. Nobody painted the house


C. The house is going to be painted
D. The house needs to be painted

28. Jane finds it difficult to drive on the left.


A.  Jane is not used to driving on the left
B. Jane is not used to drive on the left



C. It’s difficult for Jane to drive on the left
D. Both A and C are correct

29). The teacher is introducing  a new game.


A). A new game is being introduced by the teacher.


B). A new game is  introduced by the teacher.


C). A new game is being introducing by the teacher.


D). A new game is being introduce by the teacher.

30). This is the girl. I saw her at school yesterday.


A). This is the girl who I saw at school yesterday.


B). This is the girl whose I saw at school yesterday.


C). This is the girl which I saw at school yesterday.


D). This is the girl whom I saw at school yesterday

V. Read the text carefully and then choose the correct answers.

Medical research has shown that mothers are right when they tell children to eat their vegetables. Fruits and vegetables have been shown to contain beneficial compounds that may encourage the body to stay healthy. Experts think that some of these compounds may even help fight off diseases such as cancer. They recommend that people consume a minimum of five servings of fruits and vegetables each day. Of course, for maximum benefit this should be combined with an overall reduction of dietary fat (including meats and cheeses) and a regular program of physical activity. 
31). Which food groups does the article recommend? 


A). Meat and eggs           
B). Fruits and vegetables        

C). Cheese and fish.      
D). Breads and cereal

32). What else do experts say about the compounds of these foods? 


A). They have vitamins
B). They contain fat
C). They may fight disease
D). They have calories 

33). How many servings of fruits and vegetables should people eat?


A).Two per day
B). Five  per day
C). Five per week
D). Ten per week 

34). What else should people do to stay healthy? 


A). Cut down on fat
B). See the doctor
C). Eat meat
D).  Drink water 

35). What kind of food should people cut down? 


A). Fruits
B). Vegetables
C). Cereal
D). Meat and cheese

VI. Fill in each numbered blank with one suitable word or phrase.


Nowadays, it has been (36) ------- that computers together with robots play (37) ------- increasingly important part in our lives. Men will become lazy and the result that unemployment will make things (38) ----- for us. However, many of us were obviously (39) -----  by the prospect of new machines (40)----- would perform routine tasks such as household chores.

36). 
A). agree 
B). to agree
C). agreed 
D). agreeing 

37). 
A). a 
B). an 
C). the
D). no article 

38). 
A). difficult 
B). difficulty 
C). difficulties 
D). difficultly 

39). 
A). excite
B). exciting
C). excited
D). excitement

40). 
A). who 
B). whom 
C). whose 
D). which 
TEST 2

Choose the word whose underlined part is pronounced differently from the others

1. A. parachute
B. champagne

C. chivalry

D. churchgoer                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                       

2. A. inflexible
B. elegant

C. experiment

D. recollection

3. A. breakfast

B. already

C. feasible

D. heather

4. A. resign

B. resound

C. resonant

D. resource

5. A. cleared

B. hatred

C. sacred

D. wicked
Choose the word whose stress pattern is different from that of the others in each group. Circle A, B, C or D to indicate the correct answer.

6.  A. development
B. competitive

C. immediate

D. sympathetic

7.  A. vocational
B. employer

C. minority

D. reasonable

8.  A. analysis

B. destination

C. presidential

D. apprehension

9. A. exploration
B. facilities

C. scientific

D. educational

10. A. temperature
B. acquaintance
C. photography
D. distinctive

Read the passages  and choose the best answer 

As Christmas evolved in the United States, new customs were adopted and many old ones were reworked. The legend of Santa Claus, for example, had origins in Europe and was brought by Dutch settlers to New York in the early 18th century. Traditionally, Santa Claus – from the Dutch Sinter Klaas – was depicted as a tall, dignified, religious figure riding a white horse through the air. Known as Saint Nicholas in Germany, he was usually accompanied by Black Peter, an elf who punished disobedient children. In North

America he eventually developed into a fat, jolly old gentleman who had neither the religious attributes of Saint Nicholas nor the strict disciplinarian character of Black Peter.

Santa’s transformation began in 1823, when a New York newspaper published the poem A Visit from Saint Nicholas, which Clement Clark Moore had written to amuse his daughter. The poem introduced many Americans to the story of a kindly saint who flew over housetops in a reindeer-drawn sleigh. Portraits and drawings of Santa Claus by American illustrator Thomas Nast further strengthened the legend during the second half of the 19th century. Living at the North Pole and assisted by elves, the modern Santa produced and delivered toys to all good children. By the late 19th century he had become such a prominent figure of American folklore that in 1897, when Virginia O’Hanlon wrote to the New York Sun newspaper asking if Santa was real, she received a direct answer: “Yes, Virginia, there is a Santa Claus”.

1. Who brought the legend of Santa Claus to the USA according to the passage?

A. Sinter Klaas


B. Saint Nicholas

C. A German



D. Dutch settlers

2. Santa Claus was traditionally described as a

A. tall man who could walk through the air

B. fat, jolly, old man

C. religious figure

D. fat man riding a white horse

3. Santa Claus in North America was depicted as 

A. a man with the strict disciplinarian character of Black Peter

B. a good old man with less religious character

C. one with religious attributes of Saint Nicholas

D. a jolly man on horseback

4. Who was Black Peter?

A. an elf accompanying Saint Nicholas

B. an elf who rode a white horse

C. one of the disobedient children

D. a popular traditional figure

5. What word is closest in meaning to attributes?

A. symbols of a person

B. natural qualities

C. effects



D. outer appearance

6. Where did the legend of Santa Claus come from?

A. the North Pole


B. Europe

C. North America


D. the City of New York

7. 1823 was mentioned as a year when

A. Clement Clark Moore wrote his first poem

B. Clement Clark Moore’s poem made him popular

C. Saint Nicholas visited New York

D. the image of Santa Claus was transformed

8. According to Clement Clark Moore’s poem

A. Santa Claus had nothing different in appearance from the traditional one

B. Santa Claus had wings and could fly

C. Santa Claus liked poetry

D. Santa Claus was a kindly saint who flew over housetops in a sleigh

9. The answer Yes, Virginia, there is a Santa Claus is an illustration for the fact that

A. the New York Sun was popular with children

B. Santa Claus was a prominent figure at that time

C. newspapers are unreliable

D. Virginia O’Hanlon was a reader of the New York Sun

10. Which of the following statements is TRUE?

A. Santa Claus was an imaginary old man created by artists based on traditional figures

B. Living in the North Pole, Santa Claus visited children at Christmas

C. Santa Claus was a real figure living in northern America

D. Santa Claus was a story based on Saint Nicholas and Black Peter

Alfred Bernhard Nobel, a Swedish inventor and philanthropist, bequeathed most of his vast fortune in trust as a fund from which annual prizes could be awarded to individuals and organizations who had achieved the greatest benefit to humanity in a particular year. Originally, there were six classifications for outstanding contributions designated in Nobel’s will, including chemistry, physics, physiology or medicine, literature and international peace.

The prizes are administered by the Nobel Foundation in Stockholm. In 1969, a prize for economics endowed by the Central Bank of Sweden was added. Candidates for the prizes must be nominated in writing a qualified authority in the filed of competition. Recipients in physics, chemistry, and economics are selected by the Royal Swedish Academy of Sciences; and physiology or medicine by the Caroline Institute; in literature by the Swedish Academy; and in peace by the Norwegian Nobel Committee appointed by Norway’s parliament. The prizes are usually in Stockholm on December 10, with the King of Sweden officiating, an appropriate tribute Alfred Nobel on the anniversary of his death. Each one includes a gold medal, a diploma, and a cash award of about one million dollars.

1: What does this passage mainly discuss?  


A. The Nobel prizes  

B. Alfred Bernhard Nobel 



C. Swedish philanthropy  
D. Great contributions to mankind  

2: Why were the prizes named for Alfred Bernhard Nobel?  


A. He won the first Nobel prize for his work in philanthropy  




B. He is now living in Sweden




C. He left money in his will to establish a fund for the prizes 




D. He serves as chairman of the committee to choose the recipients

3: How often are the Nobel prizes awarded?


A. Five times a year 

B. Once every two years  


        C. Once a year

                                   D. Twice a year

4:  The word “outstanding” in line 3 most closely means _______.  


A. recent

B. exceptional



       C. unusual 

D. established  

5: The word “will” in line 4 could best be replaced by _____.


A. Nobel’s wishes 

B. a legal document 



        C. a future intention 
D. a free choice  

6: A Nobel prize would NOT be given to _______.  


A. an author who wrote a novel                B. a doctor who discovered a vaccine


C. a diplomat who negotiated a peace       D. a composer who wrote a symphony

7:  The word “one” in paragraph 2 refers to _____. 


A. tribute 

B. anniversary 



        C. candidate 

D. prize  

8:  The word “appropriate” in the passage most closely means _______.  

A. prestigious 

B. suitable            

C. customary 

D. transitory 

9:  Which individual or organization serves as administrator for the trust?  


A. The King of Sweden 


B. The Nobel Foundation  


C. The Central Bank of Sweden



        D. Swedish and Norwegian academies and institutes  

10:  Why are the awards presented on December 10?  

     A. It is a tribute to the King of Sweden.                    

B. Alfred Bernhard Nobel died on that day.  

C. That date was established in  Alfred Nobel’s will.


D. The Central Bank of Sweden administers the trust

Choose the best word that fits each gap of the passage.
National Health Service (NHS) (1) ________ ambulances are available and free for cases of sudden (2) ________ or collapse, for accidents and for doctors’ urgent call. Special (3) _________ services, such as free dental treatment and (4) _______ and immunization of children against certain (5) ________ diseases, are provided under the NHS to safeguard the health of (6) _______ women and young children. Free family planning advice and (7) ________ is available from general practices (GPs) and family planning clinics. Nation-wide screening programmes for breast canner and cervical cancer are available to the most (8) _______ age groups among women. Improvements in the provision and (9) ________ of cancer services are a major priority. The blood (10) _______ services collect over 2.5 million donations a year from voluntary unpaid donors.

1. A. emergent 
B. emergency 

C. urgent 

D. urgency

2. A. illness 

B. disease 

C. pain


D. sore

3. A. prevent 

B. preventing 

C. preventive 

D. prevention

4. A. vaccine

B. vaccinate 

C. vaccinating

D. vaccination

5. A. infect 

B. infecting 

C. infection 

D. infectious

6. A. pregnan

B. pregnancy 

C. expecting 

D. expectant

7. A. treat 

B. treatment 

C. treating 

D. maltreatment

8. A. unsuspecting 
B. susceptible 

C. susceptibility 
D. susceptibly

9. A. avail 

B. available 

C. availability 

D. unavailable

10. A. transfuse 
B. transfused 

C. transfusing 

D. transfusion 

Choose the correct verb tense for each gap of the passage. 
This time last year I (1) ______ in the rain along a country road in France with a friend of mine. We (2) _____ to go on a cycling holiday in Normandy. Neither of us (3) ______ to France before, but we (4) _____ some French from our time at school and we (5) _____ to brush up on the basics. Now we (6) _____ if we (7) _____ the right decision. We (8) _____ our route carefully in advance, but we (9) ______ one important thing, the weather. It (10) _____ solidly since our arrival and that night we (11) ______ sleeping in the waiting room at a railway station. Then the next morning as we (12) ______ down a steep hill my bike (13) _____ on the wet road and I (14) ______. I (15) ______ immediately that I (16) ______ my arm, and after a visit to the local hospital I (17) ______ the next train to Calais for the ferry home. Unfortunately my parents (18) ______ me home for a fortnight, and (19) _____ away on holiday. So I (20) _____ a miserable couple of weeks alone, reading Teach Yourself French.

1. A. cycled 
B. was cycling 
C. had cycled 

D. had been cycling

2. A. decided 
B. have decided 
C. had decided 
D. had been deciding

3. A. have been 
B. had been 

C. went 

D. was going

4. A. know 
B. knew 

C. have known
D. had known

5. A. managed 
B. have managed 
C. would manage 
D. had managed

6. A. wonder 
B. are wondering 
C. will wonder 
D. were wondering

7. A. make 
B. made 

C. have made 

D. had made

8. A. planned 
B.  have planned  
C. had planned 
D. had been planning

9. A. forgot  
B. had forgotten 
C. have forgotten  
D. were forgetting

10. A. has rained 
B. has been raining 
C. was raining 
D. had rained

11. A. ended up 
B. had ended up 
C. have ended up 
D. would end up

12. A. rode 
B. were riding
 
C. had ridden 

D. had been riding

13. A. skidded 
B. was skidded 
C. was skidding 
D. was being skidded

14. A. fell off 
B. was falling off 
C. was fallen off
D. had fallen off

15. A. realize 
B. have realized 
C. realized 

D. had realized

16. A. broke 
B. have broken 
C. had broken 

D. had been breaking

17. A. caught
B. have caught  
C. had caught 

D. would catch

18. A. didn’t expect   


B. weren’t expecting 

      C. haven’t expected 


D. hadn’t expected

19. A. went 
B. had gone

 C. were going 
D. have gone

       20. A. spent          B was spending            C. have spent              D. have been spending

Choose the correct preposition/ particle for each gap of the passage. 
The Moscow metro system is over sixty years old. Sometimes called “the people’s underground palace”, it has stood (1) ____ well to the passing of time. It carries nine million passengers a day at an average speed of 42 kilometers per hour, and now, even though it has run (2) ____ of money, it still offers impressive examples of past splendor. Tourists from all over the world come to look at the stations lined with granite and marble and decorated with mosaics and chandeliers. Some of the names have changed: for example, Marx Prospekt has turned (3) ____ Hunter’s Row. Some Muscovites find it hard to take (4) ___ the changes, but they are justly proud of their underground and want to look (5) ____ it. Recently a strike was threatened, to force the government to invest in the system. The plan came (6) ____, and so a new line and new stations will be built.

The Moscow metro stands (7) ____ among its international competitors for being almost completely free of advertising. Although that will change soon, transport managers have promised to see (8) ____ it that any advertising will be done tastefully. Wherever you go in the world, you won’t come (9) ____ a grander or more impressive underground system. Whether you’re a local, seeing your friends (10) ____ or traveling to work, or a tourist, visiting Moscow for the first time, spare a moment to appreciate the works of art all around you, before going on with your journey.

1. A. up 


B. out 


C. by 

D. in

2. A. away 

B. down 

C. up 

D out

3. A. back 

B. into 


C. out 

D. against

4. A. up 


B. down 

C. in 

D. on

5. A. round 

B. into 


C. for 

D. after

6. A. off 


B. out 


C. up

D. in

7. A. over 

B. out 


C. up 

D. for

8. A. through 

B. to 


C. off 

D. round

9. A. up 


B. out 


C. across 
D. to

10. A. forward 

B. off 


C. out 

D. away 
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